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Chapter 4 Gifted and Enrichment Answers
1. Vprism = (x)(2x)(4x) = 8x3. The length, width, and

height of a cube are equal. Therefore, the edge 
length of the cube, when cubed, must equal 8x3. The 
edge length of the cube is 
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 or 2x.
2. 35 + 34 + 32
3. a)
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It would take approximately 2.0 s for the pendulum 

to swing back and forth once on Earth.

b) 
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     It would take approximately 4.9 s for the pendulum     

     to swing back and forth once on the moon.
4. 
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5. 
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    Let x = 1

    1 = –3y
    y = 
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    Let x = –1

    –1 = –3y

      y = 
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    The two solutions are x = 1, y = 
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, and x = –1, y =     
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6. 
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